1p 29  Which of the following contributes to the reviewer’s positive appreciation
of The Politics of BSE?
A The clear way in which the author analyses the BSE crisis.
B The detached style the author uses to describe the victims of BSE.
C The honesty with which the author examines his own errors of
judgement.

Tekst 8 Cheap in August

4p 30 Geef van elke van de volgende beweringen aan of deze overeenkomt met
de inhoud van de tekst.
Noteer “wel” of “niet” achter elk nummer op het antwoordblad.
1 Mary verblijft in een goedkoop hotel, waarin steeds nieuwe groepen
schoolkinderen hun intrek nemen.
2 Mary’s echtgenoot voelt zich net zo min thuis in Europa als Mary zich
in Amerika thuis voelt.
Mary’s echtgenoot is in Europa om daar onderzoek te doen.
Mary heeft de uitnodiging van een Engelse vriendin om naar een
vakantieoord te gaan, verzonnen.
5 Mary neemt het zichzelf kwalijk dat ze haar huwelijk niet genoeg
waardeert.
6 Mary hoopt dat ze haar echtgenoot kan betrappen op een
buitenechtelijk avontuurtje.
7 Mary’s echtgenoot schrijft haar zo vaak dat het lijkt of hij iets te
verbergen heeft.
8 Mary ontdekt dat zij niet op een avontuurtje moet rekenen.

W

Tekst 9 Rotten woods

1p 31 Which of the following is in line with the content of paragraphs 1 and 27?

In Japan,

A animal behaviour has taken a dangerous turn due to frequent
encounters with humans.

B changes in their natural habitat have driven wild animals into
populated areas.

¢ commercial deforestation has totally exhausted the rich stores of
timber.

D the woods need the presence of animals for the sake of their
ecological balance.
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1p 32  What is the point made in paragraph 37?
A After the war foreign companies took over Japan’s wood industry.
B After the war Japan has had to turn to timber from abroad.
Cc After the war Japan’s age-old wood-based culture was carefully
preserved.
D After the war Japan was in such a bad state that reforestation could
only be done with low-quality trees.

“Because Japan's small landowners couldn't compete with the big,

efficient foreign-timber firms, most left the cedar and cypress forests

alone.” (first sentence, paragraph 4)

1p 33  Which of the following quotations is in line with this statement?

A “The forests, once carefully cultivated for precious timber, have been
neglected for decades because Japan imports most of the wood it
needs.” (paragraph 2)

B “Some mountain forests were left undisturbed to support old-growth
broad-leaved and coniferous trees, while others were cultivated with a
mix of oak, chestnut and other trees.” (paragraph 3)

c “What Japan’s forests need, according to the experts, is a comeback
in Japan’s logging industry.” (paragraph 5)

1p 34 Which of the following fits the gap in paragraph 5?
A age-old
B environmentally sound
C neglected

“This new twist on conservation is going to require re-educating Japan’s
public.” (paragraph 6)

1p 35 What would the public have to start thinking?
A that Japan’s forests can be instrumental in improving the environment
B that Japan’s need for reforestation is urgent
Cc that Japan’s wood products can compete with foreign products
D that Japan’s woods will benefit from exploitation

Let op: de laatste vragen van dit examen staan op de volgende pagina.
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